6.7 Quiz | Review %M:)

1. Find the value of x. ’ 2. Find the missing side lengh.
Give the answerin ~ § Tell if the side lengrivs form a a
siimplest radical form, Pythagorean tripie. Explein.

b 4
3. Tellif the measures 10, 12, and 18 can be the side Jengths of & triange. ’
If s0, classify the triangle as scute, cbtuse, o right. 20 e

4. Alandscaper wants to place a ttone walkwey from one corner of the o
rectangular lawn (o the opposite corner. What will be the lengthof  sow ’;«“
the walkway? Round to the nearest inch. o .
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Tell if the measures can be the side fengths of a triangle. If 20, classify | & &Q'I:W\-L-
the triangle as acute, obtuse, or right.
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Use » 2pecial dght triznglhe (o write ench irigonometric ratlo &s & fraction. J"i'
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Use your calculator 1o find each trtgonometric ratlo, Round (o the nearest .
hundredih. _
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Find each length. Round to the nearest hundredith
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X=H.28inb2 = 2.1

Find the unknown messures. Round i t6 the nearcst hundradth snd ang] o
measures to the nearest degree. 7%410.8%: xb - -
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't s ﬂwuheelchalrnnvnﬂn mee of the Mission Bay Libsary hes
a siope of ;. \ﬂuungledouﬂnnnpnukewilh the sidewalk? S.\5inlY = 2.39
Round to the nearest degree, ('nsg,\ ' ‘
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